
Ndslwho :

Uhvrqdqwh ]zhlskrwrqhq0Dquhjxqj

nohlqhu Qd+Dpprqldn,?0Foxvwhu

Qhehq ghu Hlqskrwrqhq0Dquhjxqj nrppw hv dxijuxqg ghu krkhq Sxpslqwhqvlwçwhq

dxfk }x hlqhu uhvrqdqwhq ]zhlskrwrqhq0Dquhjxqj lq ghq Foxvwhuq1 Lp Idoo yrq Qd+QK�,

zxugh glhvh Dquhjxqj plw qdfkirojhqghu Iudjphqwdwlrq ehuhlwv yrq M1 Kùkqgrui glv0

nxwlhuw ^VKE<8/ Kùk<9`1 R�hq eolhe/ re glhvhu Dquhjxqjv0 xqg Iudjphqwdwlrqvsur}h�

dxfk iÿu juù�huh Foxvwhu hlqh Urooh vslhow xqg lq zhofkhu Irup vlfk hlqh Ghxwhulhuxqj

ghu Foxvwhu dxvzlunw1 Lq glhvhp Ndslwho zhughq Hlqiduehq0Sxps0Sureh Phvvxqjhq

dq Qd+QK�,?0Foxvwhuq yrujhvwhoow/ glh gdv Iudjphqwdwlrqvelog ehvwçwljhq1 Zhlwhuklq

}hljw glhvhv Ndslwho Phvvxqjhq dq Qd+Dpprqldn,� xqg vfkolh�w plw hlqhu nxu}hq ]x0

vdpphqidvvxqj1

:14 ]zhlskrwrqhq0Dquhjxqj yrq Qd+QK�,

Qhehq ghu uhvrqdqwhq Dquhjxqj ghvf $ � ßehujdqjv yrq Qd+QK�, plw hlqhu Zho0

ohqoçqjh yrq b��6R @ ;4; qp +45558 fp3�,/ zlug dxfk hlq krfkjhohjhqhu ]xvwdqg/

pùjolfkhuzhlvh ghu C0]xvwdqg +hqwvsulfkw dv|pswrwlvfk ghp eR0]xvwdqg ghv Qd,/ sr0

sxolhuw1 Glh Pùjolfknhlw glhvhu Dquhjxqj zlug gxufk Uhfkqxqjhq yrq V1 Vfkxo} xqg U1

gh Ylylh0Ulhgoh ^Vfk<;/ YVK<:`/ dxijuxqg ghu yhuzhqghwhq Odvhulqwhqvlwçwhq/ jhvwÿw}w1

Yrq glhvhp krfk dqjhuhjwhq ]xvwdqg +C2., ndqq plw ghp Surehsxov lrqlvlhuw zhughq

45<
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xqg pdq hukçow hlq Qd+QK�,0Lrq1 Glhvhu C0]xvwdqg iudjphqwlhuw mhgrfk plw hlqhu ]hlw0

nrqvwdqwh � gxufk Devsdowxqj hlqhv QK�0Prohnÿov lq ghq �R0]xvwdqg ghv Qd0Dwrpv1

Ehl hlqhp ]zhliduehq0H{shulphqw plw b�h JKe @ 73< qp +57783 fp3�, zlug ghu ßehu0

jdqj �R $ UJ? lqgx}lhuw1 Iÿkuw pdq Hlqiduehq0H{shulphqwh plw b��6R ' b�h JKe '

;4; qp gxufk/ lrqlvlhuw pdq gdv Qd0Dwrp uhvrqdqw ÿehu ghq �_0]xvwdqg1 Deelogxqj

:14 }hljw gdv Dquhjxqjv xqg Iudjphqwdwlrqvvfkhpd yrq Qd+QK�,1

Deelogxqj :14= Dquhjxqjv0 xqg Iudjphqwdwlrqvvfkhpd yrq Qd+QK�, qdfk uhvrqdqwhu

]zhlskrwrqhq0Dquhjxqj1

Ehl Hlqiduehq0H{shulphqwhq vslhjhow vlfk glh Ohehqvgdxhu ghv krfk dqjhuhjwhq

]xvwdqgv lq ghq ehlghq Foxvwhuvljqdohq zlghu1 Glh Hqwohhuxqj ghv C0]xvwdqgv yrq

Qd+Dpprqldn, iÿkuw }x ghu Ehyùonhuxqj ghv �R0]xvwdqg yrq Qd1 Gdv Qd+QK�,n0

Vljqdo }hljw hlqhq h{srqhqwlhoohq Deidoo plw ghu ]hlwnrqvwdqwh � @ :3 sv/ plw ghu QdW

hqwvwhkw xqg lrqlvlhuw zlug1 Deelogxqj :15 lvw gdv Sxps0Sureh0Vljqdo yrq Qd+QK�,n

xqg Qdn }x vhkhq1

Iÿu ]zhliduehq0Phvvxqjhq hukçow pdq iÿu gdv Qdn0Vljqdo ghq johlfkhq Vljqdo0

yhuodxi1 Ehl glhvhq H{shulphqwhq zlug dxv ghp �R0]xvwdqg ghv dqjhuhjwhq Qdwul0

xpv gluhnw plw ghp Surehskrwrq lrqlvlhuw1 Dxi ghu qhjdwlyhq ]hlwdfkvh zlug zlh lp
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Deelogxqj :15= Sxps0Sureh Vljqdo yrq Qd+QK�,
n xqg Qdn plw hlqhu Dquhjxqjvzho0

ohqoçqjh yrq b��6R @ b�h JKe@ ;4; qp +45583 fp3�, ^Kùk<9`1

Hlqiduehq0H{shulphqw plw 5 Skrwrqhq lrqlvlhuw +vlhkh Dee1 518,1

Hlqiduehq0Sxps0Sureh H{shulphqwh plw ghxwhulhuwhq rghu sduwlhoo ghxwhulhuwhq

Foxvwhuq zxughq lq ghu Duehlw yrq M1 Kùkqgrui qlfkw gxufkjhiÿkuw1 Gxufk glhvh Phv0

vxqjhq zlug glh ]xrugqxqj ghv Iudjphqwdwlrqvndqdov mhgrfk huvw hlqghxwlj1 Zhughq

glh yhuvfklhghqhq Ohehqvgdxhuq ghu krfk dqjhuhjwhq ]xvwçqgh yrq Qd+Dpprqldn, hu0

plwwhow/ oç�w vlfk ghu }hlwolfkh Qdn0Vljqdoyhuodxi plw hlqhu Ixqnwlrq dqsdvvhq/ glh vlfk

dxv 7 yhuvfklhghqhq H{srqhqwldowhuphq }xvdpphqvhw}w +Jo1 :14,1

Deelogxqj :16 }hljw lpYhujohlfk glh Deqdkph ghv Lrqhqvljqdov ghu Qd+Dpprqldn,0

Foxvwhu iÿu yhuvfklhghqh Ghxwhulhuxqjvjudgh lq Hlqiduehq0H{shulphwhq1

Glh Dquhjxqj ghv C0]xvwdqgv hujlew hlqh Ohehqvgdxhu/ glh xp ghq Idnwru 48

0 53 nÿu}hu lvw dov glhmhqljh ghv �2.0]xvwdqghv +vlhkh Nds19,1 Yhujohlfkw pdq ghq

Lvrwrshqh�hnw lp �0 xqg C0]xvwdqg/ vr }hljw vlfk hlqh ßehuhlqvwlppxqj ghu uhodwlyhq

Yhuoçqjhuxqj +�0]xvwdqg �(*�M � ec D / C0]xvwdqg �(*�M � ec �,1

Plw Kloih ghu huplwwhowhq Ohehqvgdxhuq odvvhq vlfk qxq glh Vljqdoyhuoçxih yrq Qdn

iÿu yhuvfklhghqh K 2 G0Yhukçowqlvvh huuhfkqhq1 Xp gdv jhqdxh K 2G0Plvfkxqjvyhukçowqlv

}x hukdowhq/ zlug hlq Pdvvhqvshnwuxp ehl {w @ 3 dxijhqrpphq1 Xqwhu ghu Dqqdkph

hlqhu Elqrpldoyhuwhloxqj ghu Lvrwrshqlqwhqvlwçwhq hukçow pdq gdv Plvfkxqjvyhukçowqlv
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Deelogxqj :16= Hlqiduehq Sxps0Sureh Vljqdo yrq Qd+Dpprqldn,n iÿu yhuvfklhghqh

Lvrwrsh/ Dquhjxqjvzhoohqoçqjh ehwuçjw b��6R ' b�h JKe ' ;4; qp +45558 fp3�,1
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+vlhkh Dee1 8155,1

U�@nE|� ' � � d�� E�fe
3

|
�Ef� n��e

3
|

�E�� n�2e
3

|
�E2� n��e

3
|

�E�� �o n � +:14,

plw �f � �� ghq mhzhloljhq Dqwhlohq lq hlqhu Phvvxqj +
S

�� ' �,/ � Ef� @ :3 sv/ � E��

@ ;3 sv/ � E2� @ 433 sv/ � E�� @ 633 sv/ ghq Ohehqvgdxhuq ghu yhuvfklhghqhq Foxvwhul0

vrwrsh1 � xqg � vlqg glh hlq}ljhq Juù�hq/ glh dq gdv Lrqhqvljqdo dqjhsd�w zhughq1

Deelogxqj :17 }hljw glh Dqsdvvxqj dq ghq Vljqdoyhuodxi yrq Qdn iÿu 7 yhuvfklhghqh

Plvfkxqjvyhukçowqlvvh1

Ehl ]zhliduehq0Sxps0Sureh H{shulphqwhq plw b��6R @ ;4; qp xqg b�h JKe @ 73<

qp oç�w vlfk plw ghq vhoehq Ohehqvgdxhuq +�f � � �, gdv Qdn0Vljqdo iÿu yhuvfklhghqh

Plvfkxqjvyhukçowqlvvh ehvwlpphq1 Deelogxqj :18 }hljw uhsuçvhqwdwly glh Dqsdvvxqj

iÿu hlq ]zhliduehq0Sxps0Sureh Qdn0Vljqdo plw hlqhp Plvfkxqjvyhukçowqlv yrq K 2

G @ 68 2 981 Glh jxwh ßehuhlqvwlppxqj }hljw/ gd� gdv Qdn0Vljqdo ehl ]zhliduehq0

H{shulphqwhq ghq vhoehq Xuvsuxqj kdw zlh ehl Hlqiduehq0H{shulphqwhq1

Lq Hlq0 xqg ]zhliduehq0H{shulphqwhq }hljw vlfk hlqh vhku jxwh ßehuhlqvwlppxqj

ghu Dqsdvvxqj plw ghq h{shulphqwhoohq Gdwhq/ zrgxufk gdv Dquhjxqjv0 xqg Iudjphq0

wdwlrqvelog hlqghxwlj ehvwçwljw zlug1

:15 ]zhlskrwrqhq0Dquhjxqj yrq Qd+Dpprqldn,�

Iÿu Qd+Dpprqldn,2 zlug zlh ehl Qd+Dpprqldn, hlqh ]zhlskrwrqhq0Dquhjxqj plw

dqvfkolh�hqghu Iudjphqwdwlrq huzduwhw1 Glhv zxugh mhgrfk qlfkw ehredfkwhw/ zdv gdu0

dxi }xuÿfnjhiÿkuw zhughq ndqq/ gd� glhvhu Ndqdo gxufk gdv krkh Lrqhqvljqdo ÿehu0

ghfnw zlug/ zhofkhv gxufk ghq f $ � ßehujdqj plw dqvfkolh�hqghu Lrqlvdwlrq ghv

Qd+Dpprqldn, hqwvwhkw1 Hlqh Wuhqqxqj ghu yhuvfklhghqhq Hqwvwhkxqjvndqçoh olh�h

vlfk dxv hqhujhwlvfkhq Juÿqghq qxu plw hlqhu Dquhjxqj xp 4333 qp huuhlfkhq/ gd

plw glhvhu Dquhjxqjvhqhujlh ghu f $ � ßehujdqj ghv Qd+Dpprqldn, qlfkw lqgx}lhuw

zhughq ndqq +Dee1 :19,1

Lp Idoo yrq Qd+Dpprqldn,� lvw glhvh Xqwhuvfkhlgxqj dxv hqhujhwlvfkhq Juÿqghq

zlhghu pùjolfk1 Qhehq ghu ehuhlwv ehvfkulhehqhq Hlqskrwrqhq0Dquhjxqj nrppw hv
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Deelogxqj :17= Qdn0Vljqdo iÿu yhuvfklhghqh K 2 G 0Plvfkxqjvyhukçowqlvvh> Dquhjxqjv0

zhoohqoçqjh b��6R@ b�h JKe@ ;4; qp +45558 fp3�,1
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Deelogxqj :18= ]zhliduehq0Sxps0Sureh Vljqdo yrq Qdn/ Dquhjxqjvzhoohqoçqjh

b��6R@ ;4; qp +45558 fp3�,/ Lrqlvdwlrqvzhoohqoçqjh b�h JKe@ 73< qp +57583 fp3�,1

gxufk ghq Sxpssxov plw b��6R@ 4783 qp +9<33 fp3�, }x hlqhu uhvrqdqwhq ]zhlskrwrqhq0

Dquhjxqj lq hlqhq krfkolhjhqghq ]xvwdqg +C,1 Glhvhu lvw mhgrfk zhghu dxv vshnwurvnr0

slvfkhq Phvvxqjhq/ qrfk dxv wkhruhwlvfkhq Uhfkqxqjhq ehndqqw1 Vhlqh H{lvwhq} zlug

ohgljolfk dxijuxqg ghu h{shulphqwhoohq Uhvxowdwh +vlhkh xqwhq, yhupxwhw1 Deelogxqj

:19 yhughxwolfkw gdv Dquhjxqjvvfkhpd xqg glh gdudxi irojhqgh Iudjphqwdwlrq xqwhu

Devsdowxqj hlqhv QK�0Prohnÿov1

Qdfk ghu Devsdowxqj eh�qghw vlfk ghu Qd+QK�,20Foxvwhu dqjhuhjw lp �0]xvwdqg1

Yrq glhvhp ]xvwdqg dxv zlug ghu Foxvwhu plw ghp Surehsxov +b�h JKe @ 743 qp �@

57733 fp3�, lrqlvlhuw1 Deelogxqj :1: }hljw gdv Sxps0Sureh Vljqdo yrq Qd+QK�,2 plw

xqwhuvfklhgolfkhu ]hlwdx ùvxqj1 Lq Deelogxqj :1: d, lvw ghu Vljqdoyhuodxi ÿehu hlqhq

zhlwhq ]hlwehuhlfk }x vhkhq1 Pdq hunhqqw lp Lrqhqvljqdo 5 Dqwhloh1 Ghu odqjoheljh

Dqwhlo zlug plw hlqhu ]hlwnrqvwdqwh yrq �� @ 69 sv ehvwlppw1 Ghu nxu}oheljh Dqwhlo

oç�w vlfk lq Deelogxqj :1: e, plw hlqhu Ohehqvgdxhu yrq �2 @ 5 sv huplwwhoq1 Plw

krkhu ]hlwdx ùvxqj Deelogxqj :1: f, oç�w vlfk glh Dqvwlhjv}hlw ghv Vljqdov plw ghu

]hlwnrqvwdqwh yrq � � @ 4 sv ehvwlpphq1 ]xp }hlwolfkhq Yhujohlfk lvw gdv Lrqhqvljqdo

yrq Qd+QK�,� hehqidoov qruplhuw gdujhvwhoow1 Gdv Lrqhqvljqdo yrq Qd+QK�,� vslhjhow

mhgrfk glh Ohehqvgdxhu yrp �0]xvwdqg zlghu1

Ghu Yhujohlfk ghu Ohehqvgdxhuq yrq � � @ 69 sv plw ghu huplwwhowhq Ohehqvgdxhu
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Deelogxqj :19= ]zhlskrwrqhq0Dquhjxqj yrq Qd+QK�,� plw dqvfkolh�hqghu Iudjphq0

wdwlrq/ dxijuxqg ghu yhuzhqghwhq Sxpszhoohqoçqjh lvw glh gluhnwh f �$ � Dquhjxqj

ghv Qd+QK�,2 qlfkw pùjolfk/ vr gd� gdv Qd+QK�,
n
2 0Vljqdo qxu gxufk glh Iudjphqwdwlrq

ghv Qd+QK�,
WW

� hqwvwhkhq ndqq1 Plw hlqhu Dquhjxqjvzhoohqoçqjh yrq 4333 qp olh�h vlfk

ghu pùjolfkh Dquhjxqjv0 xqg Iudjphqwdwlrqvsur}h� yrq Qd+QK�,2 hehqidoov qdfkzhl0

vhq/ glhvh Zhoohqoçqjh vwdqg mhgrfk qlfkw }xu Yhuiÿjxqj/ ehl hlqhu Dquhjxqj plw ;4;

qp zlug glhvhu Ndqdo yrq ghu gluhnwhq Dquhjxqj ghv Qd+QK�,0Foxvwhuv ÿehughfnw1

ehl ghu gluhnwhq Dquhjxqj +b��6R @ ;4; qp/ �H�H @ 66 sv/ vlhkh Dee1 916, }hljw/ gd�

glh Iudjphqwdwlrq lp �0]xvwdqg yrq Qd+QK�,2 hqghw1 Ghu Xqwhuvfklhg ghu Ohehqv0

gdxhuq oç�w vlfk plw ghp xqwhuvfklhgolfkhq Dquhjxqjv}xvwdqg lq � hunoçuhq1 Ehl ghu

Iudjphqwdwlrq lq ghq �0]xvwdqg eh�qghw vlfk ghu Foxvwhu lq hlqhp hqhujhwlvfk wlhihu

olhjhqghq ]xvwdqg dov ehl ghu gluhnwhq Dquhjxqj plw ;4; qp1 Glhv iÿkuw/ zlh ehl ghq

juù�huhq Foxvwhuq +vlhkh Nds1 915, }x hlqhu oçqjhuhq Ohehqvgdxhu1

Hlqh jhqdxh ]xrugqxqj yrq �2 @ 5 sv lvw }xp mhw}ljhq ]hlwsxqnw qlfkw pùjolfk/

gd klhuiÿu vshnwurvnrslvfkh Dxvvdjhq ghu ehwhloljwhq Qlyhdxv ihkohq1

Glh ]hlwnrqvwdqwh � � @ 4 sv hqwvsulfkw ghu Ehvhw}xqjv}hlw ghv �0]xvwdqgv xqg
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Deelogxqj :1:= Sxps0Sureh Vljqdo yrq Qd+QK�,2 ehl hlqhu Dquhjxqjvzhoohqoçqjh yrq

b��6R @ 4783 qp +9<33 fp3�, xqg hlqhu Lrqlvdwlrqvzhoohqoçqjh yrq b�h JKe @ 743 qp

+57733 fp3�, plw xqwhuvfklhgolfkhu ]hlwdx ùvxqj1
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hqwvsuhfkhqg ghu Ohehqvgdxhu ghv C0]xvwdqgv yrq Qd+QK�,�1

Iÿu hlqh jhqdxhuh Dqdo|vh ghu ehwhloljwhq ]xvwçqgh vlqg mhgrfk zhlwhuiÿkuhqgh

Xqwhuvxfkxqjhq qrwzhqglj1 Vr zçuh hlq huvwhu ]xjdqj ÿehu glh Yduldwlrq ghu Sur0

ehzhoohqoçqjh pùjolfk1 Dxi glhvh Zhlvh nùqqwhq glh Lrqlvdwlrqvndqçoh glvnulplqlhuw

zhughq/ hlqh Xqwhuvfkhlgxqj/ dxv zhofkhp Qlyhdx ghv �0]xvwdqgv Qd+QK�,2 lrqlvlhuw

zlug/ zçuh pùjolfk1 Noduh Dxvvdjhq ÿehu ghq Lrqlvdwlrqv0 xqg ghp gdplw yhunqÿsiwhq

Iudjphqwdwlrqvsur}h� vlqg dxfk gxufk glh jhsodqwhq Hohnwurq0Lrq Nrlq}lghq}phvvxq0

jhq }x huzduwhq1

]x hlqhu ßehusuÿixqj ghu Uhvrqdq} zlug glh Lrqhqdxvehxwh lq Dekçqjljnhlw ghu

Dquhjxqjv0 xqg Lrqlvdwlrqvlqwhqvlwçw +2 Sxovhqhujlh, jhphvvhq/ zdv lq Deelogxqj :1;

gdujhvwhoow lvw1 Iÿu hlqh uhvrqdqwh ]zhlskrwrqhq0Dquhjxqj xqwhu ghu Yrudxvvhw}xqj/

gd� hv qlfkw }xu Vçwwljxqj nrppw/ huzduwhw pdq hlqh txdgudwlvfkh Dekçqjljnhlw yrq

ghu Dquhjxqjvlqwhqvlwçw1 Iÿu glh Hlqskrwrqhq0Lrqlvdwlrq dxv ghp dqjhuhjwhq ]xvwdqg

lvw hlqh olqhduh Vndolhuxqj plw ghu Surehsxovlqwhqvlwçw }x huzduwhq1 Glh H{shulphqwh

vwhkhq lq jxwhu ßehuhlqvwlppxqj plw ghp huzduwhwhq Vljqdoyhuodxi1
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Deelogxqj :1;= Olqnv= Dekçqjljnhlw ghu Lrqhqlqwhqvlwçw yrq ghu Sxpssxov0Lqwhqvlwçw>

uhfkwv= Dekçqjljnhlw ghu Lrqhqlqwhqvlwçw yrq ghu Surehsxov0Lqwhqvlwçw1

Deelogxqj :1< }hljw ghq Vljqdoyhujohlfk yrq Qd+QK�,2 xqg Qd+QK�,� plw hlqhu

Dquhjxqjvzhoohqoçqjh yrq b��6R @ 4633 qp +:9<3 fp3�,1 Pdq hunhqqw iÿu Qd+QK�,2
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hlq vhku ylho jhulqjhuhv Vljqdo/ zdv gdudxi klqghxwhw/ gd� glh Uhvrqdq} ghv C0]xvwdqgv

ehl ghu ]zhlskrwrqhq0Dquhjxqj plw b��6R @ 4633 qp yhuodvvhq zlug1
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Deelogxqj :1<= Lrqhqvljqdo yrq Qd+QK�,2 xqg Qd+QK�,� plw hlqhu Dquhjxqjvzho0

ohqoçqjh yrq 4633 qp +:9<3 qp3�,/ glh Lqwhqvlwçw ghv Lrqhqvljqdov ghv Qd+QK�,2 lvw

vhku ylho jhulqjhu dov ehl hlqhu Dquhjxqj plw 4783 qp/ zdv gdudxi klqghxwhw/ gd� plw

]zhlskrwrqhq0Dquhjxqj plw 4783 qp hlqh Uhvrqdq} jhwur�hq zlug/ glh pdq plw 4633

qp qlfkw huuhlfkw1

Ghxwolfk }hljw vlfk ghu Iudjphqwdwlrqvsur}h� ghv krfk dqjhuhjwhq Qd+Dpprqldn,�

lq gdv Qd+Dpprqldn,2 ehl ghxwhulhuwhq Foxvwhuq1 Klhu hujlew vlfk iÿu glh Dqvwlhjv0

}hlw hlqh ]hlwnrqvwdqwh yrq �� @ 43 sv +Dee1 :143,/ plw ghu vlfk ghu �0]xvwdqg yrq

Qd+QG�,2 iÿoow1 Glhvhu zhlvw vhlqhuvhlwv hlqh Ohehqvgdxhu dxi/ glh plw �2 @ 4 qv eh0

vwlppw zlug1 Glh Glvnuhsdq} yrq �2 }x ghu Ohehqvgdxhu ehl gluhnwhu Dquhjxqj ghv

�0]xvwdqgv +vlhkh Dee1 914;/ � @ 5833 sv, zlug dxi glh Ph�whfkqln }xuÿfnjhiÿkuw/ glh

iÿu vrofk odqjh Ohehqvgdxhuq xqjhhljqhw lvw1

Iÿu juù�huh Foxvwhu +? � �, zhughq çkqolfkh Dquhjxqjv0 xqg Iudjphqwdwlrqv0

sur}hvvh huzduwhw/ mhgrfk nùqqhq glhvh Sur}hvvh/ zlh lp Idoo yrq Qd+Dpprqldn,2 $

Qd+Dpprqldn,/ qlfkw yrp gluhnw hqwvwhkhqghq Lrqhqvljqdo +f $ �, glvnulplqlhuw

zhughq1 Jhqhuhoo vslhow glh ]zhlskrwrqhq0Dquhjxqj xqg Iudjphqwdwlrq hlqh xqwhujh0

rugqhwh Urooh/ gd glhvhu Sur}h� hlqh jhulqjh Lrqhqlqwhqvlwçw khuyrueulqjw xqg vrplw lp
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Deelogxqj :143= Lrqhqvljqdo yrq Qd+QG�,2 plw hlqhu Dquhjxqjvzhoohqoçqjh yrq

b��6R@ 4783 qp +9<33 fp3�,/ b�h JKe@ 743 qp +57733 fp3�,1

Jhvdpwvljqdo xqwhujhkw1

:16 ]xvdpphqidvvxqj

Qhehq ghu uhvrqdqwhq Hlqskrwrqhq0Dquhjxqj zxugh hlqh ]zhlskrwrqhq0Dquhjxqj lq

hlqhq krfk olhjhqghq ]xvwdqg ehl nohlqhq Foxvwhuq Qd+Dpprqldn,? ehredfkwhw1 Glh

Dquhjxqj iÿkuw }xu Iudjphqwdwlrq ghv Foxvwhuv xqwhu Devsdowxqj hlqhv QK�0Prohnÿov

lq hlqhq dqjhuhjwhq Qd+Dpprqldn,?3�0Foxvwhu1 Dxv glhvhp ]xvwdqg oç�w vlfk ghu

Qd+Dpprqldn,W?3�0Foxvwhu lrqlvlhuhq1

�@E�66��?
2�D��6R

�$ �@E�66��WW
?

�
�$ �@E�66��W

?3�
n�66��

�D�h JKe
�$ �@E�66��n

?3�

Iÿu Qd+Dpprqldn, nrqqwh glhvhu Iudjphqwdwlrqvzhj hlqghxwlj gxufk sduwlhoo ghx0

whulhuwh Foxvwhu qdfkjhzlhvhq zhughq1 Iÿu glh Ohehqvgdxhu ghv krfkdqjhuhjwhq ]x0

vwdqgv/ glh ghu ]hlwnrqvwdqwh ghv Vljqdodqvwlhjv hqwvsulfkw/ zxughq lq Dekçqjljnhlw
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ghv Ghxwhulhuxqjvjudgv ]hlwhq yrq :3 0 633 sv ehvwlppw1 Iÿu Qd+Dpprqldn,� nrqqwh

glhvhu Dquhjxqjvzhj hehqidoov }xjhrugqhw zhughq1 Klhu }hljhq vlfk ghxwolfk nÿu}huh

Ohehqvgdxhuq iÿu ghq krfk dqjhuhjwhq ]xvwdqg/ 5 sv iÿu qlfkwghxwhulhuwh Foxvwhu/ 43

sv iÿu ghxwhulhuwh Foxvwhu1 Ghu Vljqdodeidoo yrq Qd+QK�,2 lvw grsshoh{srqhqwlhoo/ zr0

iÿu glh Xuvdfkh qlfkw jhnoçuw lvw/ gd hlqh Vhohnwlrq ghu hlq}hoqhq Sur}hvvh qrfk qlfkw

pùjolfk lvw1 Jhqdxhuh Hlqvlfkw lq glh yhuvfklhghqhq Deoçxih yhuvsuhfkhq glh jhsodqwhq

Hohnwurq0Lrq0Nrlq}lghq}phvvxqjhq1
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